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Instructions
· Answer all questions in a single R Markdown document. Please knit to PDF or Word at the end and submit both the PDF/Word document and the “.Rmd” file for assessment, in that order.
· Label questions clearly, as it is done on this question paper.
· All results accurate to about 3 decimal places.
· Show all derivations, formulas, code, sources, and reasoning.
· Intervals should cover 95% probability unless stated otherwise.
· No communication software, devices, or communication capable websites may be accessed prior to submission. You may not (nor even appear to) attempt to communicate or pass information to another student.
Introduction
The data is provided at https://ufs.blackboard.com. It consists of the following columns: Response_ID, Respondent_Name, Respondent_ID, Year, Response_Text, Response_Numeric.
A pastor is tracking their congregation’s views on a particular matter. To do this they set up a survey where they ask whether people agree with a statement on that viewpoint using a 7 point Likert scale (Strongly Disagree, …, Strong Agree). The survey is sent out year after year for a few years and then the time comes to analyse it. The pastor has some concerns regarding the data and needs your help.
· It seems that mostly the responses come from the same people year after year (mostly the choir).
· They can’t decide whether to model the responses as ordinal data using a categorical distribution, interval data using binomial distribution, or numeric using a normal distribution.
He asks you to build and compare these three as mixed effects models, each with Year as a linear fixed effect on the underlying scale and Respondent as a random intercept effect. Then he wants you to use the best model to determine whether the people are agreeing more with the statement.
Question 1
1.1) Explain why Respondent should be included in the model as an effect at all. [3]
1.2) Explain why Respondent should be included in the model as random effect. [2]
1.3) Explain what including Respondent only as an intercept term implies with regard to the assumed slopes of each congregant over time. [2]
1.4) Import the data set into R and explore it visually. You could use a box plot with Year on the x axis perhaps. Discuss what you see. [4]
1.5) Fit a standard mixed effects model assuming that the numerically encoded responses follow a conditional normal distribution given the year number as a continuous linear predictor and respondent as a random intercept. Summarise the distribution of the coefficient of the year number. [8]
1.6) According to the above model, what is the probability that the agreement with the viewpoint is increasing by over 0.05 steps per year (i.e., )? [3]
1.7) Adapt the mixed effects model to assume that the numerically encoded responses follow a conditional binomial distribution given the year number as a continuous linear predictor and respondent as a random intercept on the logistic scale. Fit the model and summarise the distribution of the coefficient of the year number. [5]
Hint: The likelihood component of the model can be expressed mathematically as

where  is the year number and  is the respondent number.
1.8) Consider again the rate at which the agreement with the viewpoint is increasing per year (i.e., ), estimate the probability that this parameter differs between the models by more than 0.01 . Also give a short statement (1 sentence) about what the calculated probability implies (if anything). [4]
1.9) Compare the two models using a criterion that considers model complexity and give a conclusion as to which model appears to offer a superior fit. Examples of acceptable criteria are LOOIC, DIC, and Bayes Factors, as well as variants of these. [6]
1.10) Using any of the models, what is the predicted standard deviation of a random future response in Year 6 of a random person who has not previously responded? [4]
1.11) Adapt the first mixed effects model to assume that the responses follow a conditional ordered logistic distribution given the year number as a continuous linear predictor and respondent as a random intercept on the logistic scale. This is also known as ordinal regression. Fit the model and summarise the distribution of the coefficient of the year number. [5]
Hint: It is critical that a strict prior be placed on the thresholds (e.g. N(0,10)). The key components of the model can be expressed mathematically as

where  is the year number,  is the respondent number, and  is the set of thresholds.
1.12) Illustrate or estimate, and then analyse, the thresholds between response options as suggested by the ordinal regression. Are they evenly spaced (as the normal model assumes)? How do they relate to the thresholds implied by the binomial model?[4]
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